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1 SAER 3 PRl Sie AN 33 36 69
2T mHTFE 1 AFHIAF 37 34 71
2T =R ES= 1 AFRIAF 37 34 71
4T HHHER 1 FEZFKRTE 37 35 72
4T FAFK 3 DRl Sie AN 36 36 72
6T BRESR 1 BEAKRTF 38 35 73
6T ARG 2 DRl Sie AN 38 35 73
6T b EBEREE 1 KR F BT AFE 37 36 73
6T EANT= 3 AR E K 36 37 73
6T A3 3 ESE AT 36 37 73
11 L R R 1 AFRARFE 36 38 74
12T S e 2 BEAKRF 38 37 75
12T SHY B 3 KR F BT AR F 38 37 75
12T fE B0 2 ARFHIAFE 37 38 75
127 FHE R 2 AKX 35 40 75
12T HAE A 3 FRELZFAF 35 40 75
12T KEZEM 4 KR F BT AF 35 40 75
18T BRI 2 mERlFEAE 39 37 76
18T (ESTEET 4 FRELZFKE 37 39 76
18T HEBK 1 KIRF AT 36 40 76
18T AAEATF 2 KIREZEKRF 35 41 76
22T ] 2 ARFRIAF 40 37 77
22T i FE 1 EAFRAT 39 38 77
22T ARGIE 1 iR = 39 38 77
22T FHRFEH 1 Ealizi=alinyNEa 37 40 77
22T =B 2 RFRIAF 37 40 77
22T BARD P 1 TBRFE A 37 40 77
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28T HmAEDY 2 N NS 40 38 78
28T BIIEE 3 RIRF R 39 39 78
28T MAFER 3 PNE 2 39 39 78
28T T+ ABMER 2 EART 37 41 78
28T M 3 RIRF PR F 37 41 78
33T =R 1 RIRF B K 42 37 79
33T ZNEEES 1 RFRIARF 41 38 79
33T R EFIRAE 3 [FESAL R 40 39 79
33T EBE¥ 4 FEEHKRE 39 40 79
33T HLiEE 2 RIRFEERF 39 40 79
38T B 2 N PN 41 39 80
38T ABFER 4 AT 41 39 80
38T HIER 2 RIRF AT 39 41 80
41T = RS 1 VAN 40 41 81
41T REEE 1 RFRIKRF 39 42 81
43 ETE RS 1 RFRIRF 40 42 82
44T NHFFE 3 UIBGES AN 40 43 83
44T FHIET 3 RFRIARF 40 43 83
44T 7 it @ 4 RIRFEERF 40 43 83
44T gl JERIES 4 BT R 38 45 83
48T FiiENESES 3 ESE A rNES 41 44 85
48T BRBPE1E 2 N NS 40 45 85
50T B3 1 NTEE NE2 44 42 86
50T NFEIRY A 4 RIREFEKRF 42 44 86
52T BOoE 3 UIBGE SN 44 43 87
52T ERBET 4 Esfif e 43 44 87
54 IINETES 1 BEF AT 45 43 88
55 L EER 4 RIRAZF 39 50 89
56T HEME 3 BEFFR AT 48 45 93
56T T & 4 FEEHKRE 47 46 93
56T THE 4 2 SRS yNE 47 46 93
59T wHEE < 2 RIREZEKRTF 48 48 96
59T AHLR 3 [ESAL KR 45 51 96
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R L] 4 VAP NE2
X35 ReEEF 1 EAKRT
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